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1. �dA|7-�êÆÚØ£1�ò¤161�µ4

2. �dA|7-�êÆÚØ£1�ò¤181�µ1

3. ¦àg�5�§| (1) )�m��|ÄÚ�5�§| (2) ��Ü).

(1)


x1 + 3x2 + 5x3 − 4x4 = 0

x1 + 3x2 + 2x3 − 2x4 + x5 = 0

x1 − 2x2 + 3x3 − x4 − x5 = 0

x1 + 2x2 + x3 − x4 + x5 = 0

(2)


x1 + 3x2 + 5x3 − 4x4 = 2

x1 + 3x2 + 2x3 − 2x4 + x5 = 1

x1 − 2x2 + 3x3 − x4 − x5 = 3

x1 + 2x2 + x3 − x4 + x5 = 1

4. � φ : Rn −→ Rm ´�5N�¿�´V�§φ−1 ´ φ �_N�§y²±e(Øµ

(1) φ−1 ´�5N�¶

(2) n = m.

5. � φ : Rn −→ Rn ´�5N�§¿�÷vé?¿� x ∈ Rn, φ(x) ∈ 〈x〉. y²µ�3
λ ∈ R ¦�é?¿ x ∈ Rn, φ(x) = λx.

1


